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(b) The sum of the digits of a two-digit number is 8.

When the digits are reversed, the number is

increased by 18, Find the number,
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(a) Explain the concept to convert a rectangle or

square into a trapezium with the shorter parallel

side given.
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(b) Formulate the method to compute the length of
the perpendicular from a given point to a line using

triplets of a line. Use the technique to find the

length of the perpendicular from a point (2, 3) on

line Y = 4*

\'6 t€r + F+o qr ocftr 6'd v6 GS.rS G'E t v6
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Attempt any four of the following:

ffifr{d t + +€ qn ra dfrs:

(ii) Find x and y slch that 2x + 3y = 10 and

5.x + 9y : 30

(iii) Find the area of the cyclic quadrilateral with sides

36 m, 77 m, 75 m and 40 m.

(iv)Solve for x: (x + 7) (x + l) = (x + 2) (x + 3)

(v) What is the Sammuccaye in the equation
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l.

2x+7 2x+4 ,I

4.

6

3x+4 5x+5

2. (a) Find the inverse of the matrix
-1
2

-1

z5
-3 1
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-1 2
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-1 1 iI
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x-3 x-4 r-S x-2
(b) Solve lor x: -----: * ---- = ---- * ---:x-4 x-5 x-b x-5

x 3 )c-4 .t-5 x-2
x d tdq ra S]'niTs ;+x_5=;+x_5

2x+9 2x+7
{ rl \olve lor x. 

-
' 2x+7 2x+9
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3. (a) Solve for x: i-l+ ; =--3
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